Question Booklet Code SLRC-2024

c Paper : III

Roll No.

Question Booklet No.

Time Allowed : 10:30 a.m. to 1:30 p.m. (3 Hours)
Maximum Marks : 150 marks (1 mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-96 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the invigilator to
replace your Question Booklet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 10:30 a.m. in the Examination Hall.

+ Read the questions carefully before marking the right answer with blue/black ballpoint
pen only in the appropriate circle of the OMR Answer-Sheet, as firstly, there is provision
of negative marking of 0-25 mark per Question for wrong answer as well as for selecting
more than one option of a question, and secondly no extra OMR Answer-Sheet will be
provided for any mistake or correction.

+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write
his/her Roll No., Question Booklet Serial No., Question Booklet Code in the space
provided in the OMR Answer-Sheet by shading and by writing in alphabet and numerical
on the front side as well as on the back side. Otherwise the OMR Answer-Sheet will not be
evaluated.

+ Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
invigilator on duty after taking their seats in the Examination Hall, and the other, at the time of
handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after the
completion of the Examination. Cases where a candidate has not signed while submitting the
OMR Answer-Sheet and the Question Booklet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

+ The candidate should make sure that the Question Booklet No. and corresponding
Question Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her.
For example, in filling up the Question Booklet Code, if the candidate gets Question
Booklet Code °‘A’, then he/she should fill up ‘A’ in the box provided in the OMR
Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space
provided. Rough work should not be done on the OMR Answer-Sheet or on any other paper. If
any rough work or overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR
Answer-Sheet will not be assessed.

+ In case of any discrepancy or confusion in the medium/version of the questions, the
English version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

+ Any candidate found using unfair means including carrying restricted items like Mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.



OMR TGF°[@< *[ F91 SICs [ s & '3 @ 2 =RF[ 1-96 a1 Fwea =Bl T
TS B 02 IR S FPhe FET AR (1 OMR TSI#[@¥ (FF41 (967 A | (FCA! 1[0 [orre
e sewele NTTT S@efe T erads e FE A |

+

+

eyl foe

[l 10:30 TEF WS PIFFOLT ANH T R |

OMR ¥TI7Iqd 2R JQGre Nell/F o T2 (AT Ww $edo! e F99 A9NTS 2T6!
ARG =y AT, F1Fel 2AANCS ATl 2T $o1 $eIT A AF Ghretd Iies {98 Teq fasiva
T A 0-25 YN 99 AT WA® FOmCe pol oo A ww FiAes Wfofe (Il OMR
Tea7m =9 |

Non-Standard OMR T&3°@ IFIEE CFa© AAFACH IFRRCE (SSEFT @@ 794,
AFIFC] TG 794, 2ANFIFe] 506! OMR TeI719d iz iz F & S 6] oA WA9F Fie
I leT T bl A AT AGPF ©1 OMR T@q#(ase ARFed [ FI AR | Sl
OMR T€I79q e 1 72’ |

TR s o $eiRfs/ @ “Iqe 7R Fra ST AM[, A[E (SSEIE [T
TPE 228 IR TS ¢ %OrAE OMR $ed7@ S n@icods arses ol @ e |
e ARl TofEfs/ @ol qe A @{OHAE FEE AR, (SR (OSENT SAFe el
e 231

AFIANE FrFedTe i e JTe (oS @e 91 BiF &g afoe |
AT Five @R She Tite eFiTes T WF R ARFFes T w5l OMR $ede@q

e oi%e o1l =0 | MR, AFIFeT FT A[C FAN TS, AW A= FqA 2PIFFI
F'T ‘A’ AIfFte1 OMR Tedriaq e oizs ‘A’ ffim wifem =i Rifve 3 ‘A’tH 3°an Ffa =nfee |

FRPFIAE AFCEAN 4997 2SR 461 (rough) I erFFes W@l Szece FRE 217 | [rwAE
U541 (rough) F THI2[G A1 T (I {9 PloIer® IR (19 | Ta7[qe I @2 #5471 (rough)
I AR T @ A0 R IJFRE I, (SRR (9] TI#@qd JeRA F91 727 |

2R NN 3 AFITS (Fleal 1o Fowife Aifdee w1zl @ ceiiare seyfRdl =7t 2 AFRWGIFR
oFe ww Jfel o T 27 |
[P el A1 LIS (Il [P AP [ A SeEne fumr w29 |

QTIPS ~QrFE 201 /T fRE AN @ (R @I, (@O Al (PGl 4991 (e
STRE A1 e esas T8 “[REFewie FfRe SeEte @l 7279 | W @il A_ERic Spie TR SEerE
T¢I T @7 TeEmd T AR fREpEE Tekdl w9, (908 (98T Sl o [eana w4 =79 |

SLRC-2024/P-111/ 1-C 2



OMR Te=°[a(s *J7¢l T “Jed AT ok Fifve 20 =@ @ 2rieica 1-96 “Ffe g “piefe
TP e =z @32 FFe Fate =T @ OMR Tea7@lb Fe OF & | @il 2w fomte
AT W(<ETy AR SRefe FRC Al e A T |

+

+

eyl e

e 10:30 WHFE < 2eal =T e e A |

OMR Teasitaq U@ Jefbre Met/Fel s oF 7 ws T fofes wwam =i amifp
AR 2T T, TRl 2AAT© 2ol AT $o1 Teq (MeqF & 42 qeFa ks [om Ten fofon
FE & 0-25 AT TH AR G2 [{SITe $1 =@ A wwm I G0 (@I Sfofie OMR
TEAG (MeHl TS I |

Non-Standard OMR $€37[@ JRICET CFE IFACE T2 SIE (@ie 75, Mf{f@?ﬁ@ﬁﬁ‘
T, ZeRFE @rele OMR Teaeitad ffwg i FiceT Face =T &2 ARG s @ (ot e
@36 T @32 APHF oy OMR Tea+1afb AoFelca 79 Face 20 | WAl OMR Tea(tad
TR A A

sAwAiwaE FawE e TAEfe/@m it g JET TS A, AT O S O
P 212 PR T @R O OMR T@AG €3 2eafs WarwHeE ol (TR N | (I
AR TS/ @e “icq AW HORAR AR A B[R, OIRC OIF TS ¢ AT A 2 |

AIFIATE 29oica wed e B IRREFeE OE @F 799 S[R3 fo4ce 203 |
A7 Whve zem She TS 2petE T @92 AR @Mad (@S TFa OMR SeRetad Wive

B T = | SRR, ANAE (IS SR A T, ANwA Az w0 Aeiad e ‘A
4IFel OMR Yea-itad g gl ‘A’ fervte =@ @32 [iWe e ‘A’ FiteT Face =d |

PR TP (AT ARG P78 (rough) IS 2M70q (TS B FAC0 ARG | 4912 278!
(rough) & T€I7q 1 B0 (FICN HCTF IS FACO 2@ 11 | I 2[FFF @2 78 (rough)
re Teqe[d TR [ W [ AR O, I G1F TeIAIEd O Tl 20 Al

AT WG | AFAC (@A (FCTE Pt =0 LAl @RI SPRY =0 RAE AFReADRR Ao
wH A AT FA A |

S DI (PG ~RTFIRCS ARFICT™ Opisl FAH SRS (e 2¢q A1 |

*AEFIRICR ~REFE 29 /T (Il Rm T @ (TRIRE (I, IR R (FICA| Ao
SIICED 1 Sefeda Tl Telft Ja FAF SRHe (eq 7 A | ARERIeE A @I SR ToR
ST TS (TR AR AN O M To TS A[rwE fRepR Tekee w0, O SISl
CTRCTl T 2 |

SLRC-2024/P-111/ 1-C 3 [ P.T.O.



OMR T feeTz@t ong EemaE frmat, foafan s@t wematy gammE, 1-96 Rm it
Torerewr wifar fosmema wif@ g™ € 3 OMR R faeean maft araee’ 9 StawEtat
HIAFA FHEANH | ATETER Sdd-a AiATsAT @i fasimeEt @reE=T g aaa aEfe i arsst
fartergn)

RICIRERIC

+ % 10:30 fomfs R @ity foemsel e @ amEma @adr sl

+ OMR = faemef S s e /e gaug< waast 1o et fm gaat e
HfUEt ANE TWEAT A0, AT SfRme: AEwmE giad TRt R g om
Al FiE R T A g/ 0-25 @’ TR 9nna o Aferma: MRt S
AT 16 WA OTETE JiFet ST T 96 3AE SHEE T8

+ Non-standard OMR T faee srErAmf fafaema faerfemn @ et @@ Tw=), Fita
faemefa wift =, wifar faeef™ wswEt OMR e feemef S S Tam TremE
T R fRrmfer ot At wmm gt o o (srAfsmn) foram 19 sg wremat
A | ASTee OMR R foes@t smAsTe ™ S T8

+ ToTfarRRT Wew |9fg 8 A | el HSE @UEE gEH TEe e STEEE SEHEE 34E
foammE g TEfkfifen sAm genirm /@ foameamE, 3 gA aHE, ESe R 3
JEfeiE @ity faamz 0 OMR fra faemge numam™ swE OMR 5 faeg om0 @ity
foretrg@l oA wurE fosirn wfy Semdee foul rSee SaEHE R THE S |

+ ity foemzaE g forame Sermme fsefien Tee et @ e o |

+ mifar el TR o @ity faemefR % et OMR e foemef gremma S
ot wra feenforn Qe wmArn mAn fafefer anfed, @ity el w5 eneg @
Tt femriern waam w@ifar foamett w1 ‘A’ Srsar OMR R feemef gremma s
‘A’ T AR M B s ‘A’ T MEE  @TeEt |

+ foenfer s TEm 9 ™ @ TRAPAE (rough) @R @ity faemst st
SRS G T | ST SremaT TRaeEE et 6 o e fofe e e
T forarzama Qe A TS| T faergara 9 WemHar aRAEEE (rough) @TtREr fesiern
Tramse e feRen forfd (overwriting) @ramdlsen TS TEX MeRE! (whitener) OMR T
foregama wiFlsen & OMR 51 feetmg@l aeFm™ STA™ S|

+ ity foemel foel won wEEAEE JEmER TR ATt TS g AR ST St
RT TEet BEEAE it foraEE i A THEET dEE SrE |

+ FHSTE WfAGE I qurE Tael et ssmefafa e o et e S e

+ AR /@uEE ARaT fISIfIwT g1 T gaT SR HEE B, shaigoled T faf TEamH memeR
Soishe e gl aTerisen fof forsmforat gman M ST |

SLRC-2024/P-111/ 1-C 4



OMR IW-U=F @t 9 & Tgat weneff @z giifym = & & woa-gfersr & 1-96 @& asft ys
THATIER Jisa § aun =g ot ghfia = & fF OMR SW-u=s shadt 349 @ wafea 21 foret oft
fommfa < feafa @ et wvA-gfeae aeem ¥g aeerer ffiers w1 gim w1

+

+

TEqul e

TTa: 10:30 S5 ¥ U UeT-hel § UvA-YiEaeRt T @iet |

OMR 3TR-US& & IUGH Jd H &l IW hi Al /et Ficl-Wrge U= o Fulga & 8 gd ot
Ul I LAHYEh Ug of, U TUHA: Ted I AR Tk & U39 & fore ek @ arfares foaemew &
TIH HH W 0-25 THRHSE 37k T AU 2 3R fieftora: fheft ot woer Y et ereran gam
& foru srfafd OMR sw-w=res & feam smorm)

-AH®H OMR IW-Uh & HAER & A W, gdereff s srfAama: (aa1 o1 AR,
Y -Gfeaeht hHTeh, TI-Jeaeht g OMR SW-U=e # {33 T3 T | Srifchd ST SR a9
AT R D h WE Tk AUHTAT TR TEATHER 4 OMR SW-U=eh W oAt g ez
OMR 3IT-UFH 1 GedAThd A&l ToRAT ATET |

wherfeiat = fFhees g & i sufrufa/de st W St 9R gEaTerR i g Ygell 9R S
aliemefl Tdiet-she # o Hie W oo ¢, qun gEd eR e S Tya-gitaet a1 OMR SWR-UTH
g o g9 | 3R foreft wdiemmeff 3 OMR IW-=ek ao SoA-Gfeaert Wiad ah gedter & fora, at 39
Frgufeord Wit ST |

yw-gfeae § ffdy Toam w wheneff o e TR W ' A ford |

whreneff oz gfam o & fF 37k g foreht T wva-gfere den qen w@e gva-gfeae we
OMR 3IW-U7h W TE T IEEUT @EU, UA-Ufedet o wRd owa, afe udieneff =t
JyA-gieast ‘A’ THet, @ OMR SW-uss ® @ T afed § ‘A’ for@atm g aar OMR
IW-UTh # ‘A’ ! BIAIRA HET BT

wheneff ot W& # W (rough) FE TE-gfedem § @ ™ WH W W TR W #@ OMR
IW-T AT A TRt T8 o IS W A& R bl | A HIE T 1 A1 NIRRT OMR IH-T% T
foran e =1 foRsteh 1 W= foRm TN, @1 OMR STR-USh o1 Hodlehd gl fohel ST |

9T o WTeaw /G W foRdt oft fomerfa o am <y fearfa & eimsht avemtor € v g
Tfien % <R foRet oft adteneff B wdtenm e ®ied @ Al T R

af I wiaeff Tad qleRt SO gU IR ST @ S7fq Ifaatyd 9t T S "EEd B, hegelel
71 foreft e o Sgfaes wft SrerEn st aeg omfe, SRt adien g /we # rgufa 7€ 8, @ |
T qET S|

SLRC-2024/P-111/ 1-C 5 [ P.T.O.



1. Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
(C) I (D) IV
1. 2%a BIRGT 747 [eave 39 :
I. 376 II. 629 1. 921 IV. 397

2fSCHT FRAT TG THGAS FGCE (DI el IR [ TPeToq 2 2
(A) III (B) 1I
(C) 1 (D) IV
1. o credl 5 R [Heane T
. 376 1. 629 1L 921  IV. 397
2IfSfb Yy SR TR I 20, (I T M FUed B¢ ?
(A) III (B) 1I
(€) 1 (D) IV
1. B HFS SHSHTGRE! TSR &
. 376 1. 629 1L 921  IV. 397
I A AR e Siane wiiEE g, e a9 MeH  SHSEE SE g
ERIEEISIUIE
(A) III (B) 1I
(€) 1 (D) IV
1. & & T8 IR ween W fa=m il
I. 376 1. 629 I 921  IV. 397
afe T e w1 AR FH H afedd TR S, @ we-H = den gew 3 2e
(A) III (B) 1I
(€) 1 (D) IV

2. Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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2. e *37co] 517 Sferes |

(A) IR (B) Fredt

(C) =gt (D) T 5%
2. Rl oo @ e |

(A) vER (B) <=

(C) AT (D) T
2. T HEEE! AEfE R

(A) &@n (B) @@

(C) semfet (D) @13
2. AT I U=y |

(A) T (B) @t

(C) =mmeE (D) #R

3. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister
3. G FOIAFS O BELCE SgRRE A @, — (967 Orgd e (TR FRNTSR
GG @ | Afela] =eq A0 (P TN T=7AFe 2
(a) ¥ (B) wizel
(C) =9 (D) =0

3. @30 2[Ce *[e-«3 s IPre I Tl I, ‘R SREE el SINE Premeea e g
@ | el e *[e-9F A% 7T=IfFS 2

(a) I (B) Prom®
(C) e (D) =@
3. QI war oty oAy mierE gaw, CRfy et R sty emafy eee feamer|
TR ST Tty wmee e
(A) feme (B) fo=
(C) fomm INREEWACEIEIE]
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3. T% TR § NG &1 AR TR Fd gC ACHT o hal, 39 918 o a1 W IETST 6 Fohlid 9o
27| wierft, wra @ T yeR wefia 27

(A) == (B) <r&t
(C) =t (D) &

4. If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
4. 3 ROBOTICSF OROBITSC f25I(3 §'T 341 23, (98 PROJECTSI §'T 2’9
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
4. I% ROBOTICS-93 (& OROBITSC ¥, O3 PROJECTS-93 R(F® 21
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

4. Jf& ROBOTICS T4 #a&1 OROBITSC, 3f&a1 PROJECTS ™ #a1 SrmH

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
4. If¢ ROBOTICS %! OROBITSC & &4 # =ifgd fan Sar 8, @ PROJECTS & f5&@ w7 &
ehie form ST, &% @
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

5. In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

5. bl ffeaamre Fikeq SIQEHI 99 S9EE 77 FICa SiCE | PiRed slae| 0% wE F10e e
S SCR, FCh! ORMT SIaeTq 2IF6% FIceT NCg | A9 SIQeIco! TORES SQea 2[/1 (FIee! e

95 2
(A) wFEReI-27 (B) Teq-If5y
(C) wFa-#(f*5x (D) 7R

SLRC-2024/P-111/ 1-C 8



5. b IIEAIER Prrea <l e AoE 7F W | Piceeg Av| B9 wiwe IR SIEe bl Al
oo <15 21w e | oo™ <151 (AcF T A @ e 2

(A) w5 (B) Tex-2If5y
(C) wfEal-oIfs (D) 7
5. T4 SHRATerEE fae ' wrsiEn @t weeni e faef el et gef
RS S Faarts e et def wretien foar el aafd amn?
(A) EIT-HHSI (B) GI-HHT&If
(C) WreAT-|HTEIY (D) IS
5. U Tafeamr § 2 1 fosm, o o fUs o qa ol 3R 8| I o TUSK o Stk qrqor H wie] i s
7, S <fiar & fisR @ ufsm it 3R 2| <fiar & TSR @ s =1 fosw form famm & 27
(A) sferur-gg (B) IW-4fm
(C) sfegur-ufzm (D) &

6. At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph
6. 7w 12 . . yawq % BW 15 WfeBe 5l #[ee 93 I8 N @ore T@l i
o1 2
(A) 64 . fi. afe g (B) 84 . fi. afe g
(C) 48 . fi. afs gb (D) 36 . fi. @fe g6
6. <3 o A F© aifers Boca 15 MG 12 RFeefivR 7e@a o8y ¢iteied 2
(A) 64 5. fi. afs 9 (B) 84 . fi. afs g
(C) 48 . fil. =fs g4 (D) 36 f. fil. =fe 945
6. TIFE TS T8 MR 38 TR @reer 15 fuftem 12 o fio M amm?
(A) & ZEmE 64 o fo (B) @ ZrmE 84 fho o
(C) & ZrmE 48 fho o (D) & ZrmE 36 ko o
6. 15 fire § 12 foramfiex g foreft 7Tde ek 9= & foTu U &R ! TsmT T FoRd TRR | e
=feu?
(A) 64 Tho o ufd = (B) 84 feho o ufd =
(C) 48 fho o uf =T (D) 36 feho o Ufd =T
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7. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
7. GBI N A& SGAS (FACH *[ (e AT ?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
7. S SR SIS (@I =0 (10T AR 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
7. AT 3OS WG [6geSTa 96l | 6 =7

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
7. HH IS Teeehist H -9 se Afad e

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE

8. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
8. W& IS *CBl DS T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
8. S TR *A (b *ITS e |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
8. TR 1Y HieEwE! At

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
8. T Tt ATt I’ I TEATHT |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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9. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
9. MENDICANTS S[49792 T2 4 e st =< oo S i« 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

9. MENDICANT-¢3 SRS A2 I 16 (@I [0 915w 91 IR 1 2

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
9. MENDICANT A graI®r@! seEH MeE o« Hielewdt gt g ?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
9. fa=fafiaa # @ %19-91 Isc MENDICANT < 3180 1 3UANT Shich Al ST ST HohdT &7
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

10. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21
(C) 32 (D) 17

10. 951 IT ALWMS (PN (™ Al 7(Fee 4 IR Gevl *19re ARz | q¢ ToRT ST
(e WRAIF! NS 02 | G T ST O ¥ Fero e A2z | q=0g2AT /[ CieieE ved
TS @I 3R | (TN 05 qISTICE 2 e FIACl, IF (T A[NOGE QIS
G 01 ~[ $ON FTe Sz | O o’ SF (TR Meq O R4y q2Cqe
¢ RIS T (PR TR G0 I | Q0T I SR e [1q 24 (ie2 912 S | 39
RIS I e o afefafy 3f2 =z 2

(A) 19 (B) 21
(C) 32 (D) 17
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10. Iq A4TCw, e e (e adfoffda @ Mfice q0TcR g3z ACee wperE YRR | g we
GEEIFRR I Mo I BCR | RS, GCEIFERE AT S T IO | S, A2
TR 5ol Bt IOTCR | MG, (TP 0 I IR <R (TN T 5 O 13
(A TOR | GBI 3R (TTNICHA MK (MO FR2] ARCHS GAR ACBRIR AT | SICHIE €33
FRITCR W0 Mg Q&G 0P AT | I AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21
(C) 32 (D) 17

10. 9FH AN HEEE U BEdH AHRI ARITBRET ARl SHW - 9iR wiEre e |
wEq e sty wiver’ amfaer fSeet | fefsen ' fanf sfatstsm aeafoeme | em'emn
A e e sforma SRRl wEErn S mfEy Jeier e et aiii
ATTETIEE oty T €| T T ST SR TS ST 816l 8, STetEd TN Uk WA
TSRS THATSHI | 3T AT 3R TSI Tod Tee gethill el | Tl Tl 2ot aewrT o
ATEHA FHerE SR 97
(A) 19 (B) 21
(C) 32 (D) 17

10. Ja1 @8 # F2 ffya wen § e & ufafafy e et afte 3@ Sod 2 it wft aufet 1 o dgg
Fh 93 A B | TR Y 9 TR Fa 38 AT A3 T fhSh, v i 9 oI ared e W
B ST, SEiF % o A Y T W F| FAET, ST & Ik 918 AR 937 2, I ST Utk
ifom o BR ¥ R T W | TR R S % e A A g sl ofR et &
THM B | S 3R FATET & i hadl D8 9 dod & | Fol Heer foha 391 gar 6 § dad 87

(A) 19 (B) 21
(C) 32 (D) 17

11. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
11. (o Rg (oifdest : MRl « Rwsler saaa 19 2

(A) ﬁﬂlﬁ:W"T:ﬁ@ (B) I#TOR : [l : @F

(C) T : (&1 : Pl (D) 5% : (AR < AT

11. @R e e @ wiq : oEr-9q <swme 2
(A)%@:wq:ﬁgﬁ (B) F[EOR : IEFIRT @ =
(C) T : (514 : 33 (D) #I% : AT @ 71T
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11. & a1 9f e : e - st S gRE?

(A) TAS : ST : foregpe (B) HHER : Hia@ fil : s

(C) W : ferfi - forerma (D) & T : TARR : S
11. &H-T1 foehed U : B : Tt & T9M 27

(A) =&« @ fafene (B)W:aﬁwzaﬁﬁ

(C) oM : @ : Tohara (D) e : HMER : AHH

12. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

12. 3 REAR = 42, TEAR = 44 o[ DEAR = 28, (98 fR{ER® (Fhl @9 8% 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

12. I REAR = 42, TEAR = 44 @3 DEAR = 28 =, O <Ib4 (FFM T91 (STl 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

12. Jf¢ REAR = 42, TEAR = 44 31 DEAR = 28, 37scTl TERH a& ST sIsf U &1 ¢

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
12. I REAR = 42, TEAR = 44 3fX DEAR = 28, di ffafad @ & SH-91 92 Tad &% 4
Sirer T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

13. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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13. e “Mebl 79 (A9 e [t e v -
7@ : SIS el ¢ 2
(A) S (B) fFerl
(C) M (D) =/l
13. ¢ “Wfb 7[R & Ol Kesis o
e : NS :: el @ 2
(A) =R (B)
(C) °™ (D) =/
13. S99 AREE! 3 W gEie e 9’
qEH Y G ;7
(A) @ (B) forsma
(C) Tr7erg (D) T
13. 3t 92 =l WA & e daran foshen @i -
QH:EIT&I'%::W:?
(A) st (B). JEh
(C) ™ (D) T

14. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
14. g : BRI T RS @RICH! oo 5 |
(A) &9 : 87y (B) g : I
(C) Tfew : For s (D) &% : 4
14. g : BFa-9q FCOl G2 F0F Gfo Hre Tl |
(A) =9 : 87y (B) 1 :
(C) Tfew : Joams (D) 21 : 4w
14, T : fouERE smfe dHmr T S A
(A) AHSTHE : gfa (B) &R : T
(C) Sl : Tl frerman (D) SmE - SRR
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14. 5=I1 : FRHU & GAH G99 Il SIS hl T hifsig |
(A) J@I :&dr (B) @M1 : 9ebET
(C) e : TS (D) Y : oA

15. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle
15. FIERIiEe @G *< 2we ARFCETS 17 T 2
O H€ed TS GeeeE T97 (R |

(A) RIS (B) emerret
(C) RIS (D) 17
15. ‘“afel Tem "o o T91 @ 177 @ qRiHee Aeed (@i K ARFed Ao 4|
2
(A) ®OTIS (B) deraret
(C) WIS (D) =
15. TR de WEET AR SHE ST9rETE @M STHE T877
3 AR wEE . S 9ei
(A) frgeama (lethal) (B) ®iguE (fatal)
(C) e (deadly) (D) 3 (subtle)

15. fFefafad & @ SF-w1 35 A § et @1 9 fhe 7gt gmm?
fRW__ 9eR @ =3t it Oid 8 T
(A) =T (B) STHetan
(C) W (D) Ha

16. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 B) 4,3,2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2
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16. e 2XI1E! SfSY P 2we *aPTed W& XYl 6 272

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
) 4,2, 3,1 D) 4, 3, 1, 2

16. 931> Sf RAME SfSy SRAI 2fe XWBCER AT T F 23 ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

16. T AFTHT ST Qe fogesta o aied s S /1 Se?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 (B) 4,3,2,1
€ 4,2,3,1 (D) 4,3, 1,2

16. W 3TUST eGhITT % AR 37 Ieal o1 Tl A F1 BATT7

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
) 4, 2,3,1 D) 4, 3, 1, 2

17. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

17. 27, 30, 37, 50, ?, 98 *<FICH W&(P HSART AT GRS FRICGI +H157 T |
(A) 69 (B) 73
(C) 81 (D) 91

17. 27, 30, 37, 50, ?, 98 @b T BRI @C® TS RYIG F=1oa et |
(A) 69 (B) 73
(C) 81 (D) 91
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17. G e AR STSE SHSHEE g9d |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

17. 3739l T2 &1 ° SR W < fore 3fea g &1 == fifsm)
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

18. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined

18. ~FIIC WAl T¢q @ OB (Wow(F e, 7 e ¢4 MeR w @ “FdN Ufe we |
(S STENFT Tl T eI @Fee $°3 “fF 2

(A) 7RI PR (EIfoeed BI%F

(B) &< S Ceiieq Toel ST

(C) Farer SIS _ICSIT €4

(D) ey R

18. *[#41 fFrees ceifen (5@ o1 qcel Mk e, g Frel, @ *@QR (6 o1 o7 S @ 7/l

ST | OI TSl e SCEA (PG @ T 2

(A) °[E SR2 Ceied (50 4ol

(B) @1 @R (eife @2 ThHoR

(C) Fro fomerced ey AT

(D) Teyefme =1 T =1
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18. g mew safatgs Sifm 2 o, Tuw ugsiftgs sifem Raarn ugeifa e e
BT THfeTt | forER Siergel A e ser 6 ¢

(A) ugsrn safafigs sEfEem
(B) ugsl 3T Safd=n wue Sh
(C) Toramn wramfs Tee shfe

(D) AT g
18. ugdl, Sfd & &eft B 1 aran et 7, AfeR faran, S ugdt @ @l 7, St § fR aget e R
3Rt S ok aR ¥ frfeifad § & @ e ST Hehdr 27
(A) ugdt e w7 @ sfa @ 31 2
(B) gl 3 sfq Y «ieE a9 ®
(C) oar =t & w=@ @il B
(D) &= &l feram S gehat

19. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece (D) Sister-in-law

19. FETGT GF PO AR qoe STl Sgfriz F, ‘(98 (|7 M2 TZq G T
Slfa’’ | T TS SSCToreq Aeq 7T= 5 279 2

(a) 1% (B) Sl
(C) eIfaret (D) T

19. 90 FCECHT SR, Tl 96 SfecTor e Bfere Feq qeelecer, “fof wmm =ity
GG (ZCTA O’ | SfSCToR S FHeTE M Froid TP 2

(A) (B) e
(C) =If (D) %
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19. T8 HEEICHTH HE SETRIEE AR SEgREl ftemm guam, o onfy fogasnf
e’ frarert forme | SR fomrStt wetreT 91 g SR
(A) fermma (B) et
(C) formme (D) forrT

19. TF FictSl GHRIE H, THICT 5 T AT 1 3T TR Fd g FE, a8 W 9 % Fhalld 9
oqret 77| ST S AT 61 AHie O b Hey Y
(A) ==t (B) &
(C) WSt (D) &

20. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
20. PO “MCHl 7[F9 FEACe TS Kpech! oo v -
T : T 2 2 : PRI

(A) TS AL (B) TS Fm
(C) TwH (D) (oerERTel

20. ORI “Mfb “FCR & Gl KFmf g
Qegeer : foIShe1 o2 2+ (Il

(A) & AERE (B) AT ©oF
(C) AT (D) (TSl

20. AW FREE! TG FIATH deraq fhrar 9
WW:%::?:W
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) et Tmnfy
20. T 9 HI WA o fole gara foshed @ifeg
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=RT (B) GI-hiseh omreft
(C) Tehe (D) Yeafifar
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21.

21.

21.

21.

21.

A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

(I GOl FRAF A 40% I F91 279 I 7 PIwe 40% ZPT F41 277 | *[ORN /R[0S
TREFCHR J2 ARG (22

A) 16% I (B) 16% 3P
(C) 32% 3~ (D) S#Raee

a3 MRATEF 40% I FA 2 IR [ISICS 40% 2P 41 27 | R ffdcd wamfog b
[fRE 2e

(A) 16% I= (B) 16% ZM
(C) 32% M (D) wifFaie®

I A feEmE! T 40% SRR SE 3T 316 40% WHEETE S| Sairerd 9 et
3T HIAEHTT STt

(A) 16% dei (B) 16% @H &l

(C) 32% @ St (D) St T

T & H 40% i ghyg I TE 3R 36k 918 40% HI & TS | HEAT § YE uREdd wiaed @
(A) 16% i gfg (B) 16% i =hHt
(C) 32% ht HHt (D) @I FeaTE T

22.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years

SPACE FOR ROUGH WORK
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22.

22.

22.

22.

M A, B SF C J 9T I3 22 %9 9F B IF C J 9C T 25 29, (98 AfSTF 7[1 9 %74
foze AT T 2]

(A) 25 =9 (B) 35 =

(C) 50 T2 (D) 45 327

M A, B 8 C-94F 5TC 7 22 I=F @R B € C-99 9T I 25 27 T, O@ 94 (AF 9 =7
4 A-99 ROT F© 3, 1o T |

(A) 25 3= (B) 35 Iz

(C) 50 I=A (D) 45 923

Sfe A, B R C T 7T 9@ 22 9ER A/ B AR C 1 T sMis 25 FMisal, 9 dEr 3™
AT Seten S8e SA?

(A) 25 SR (B) 35 sHER

(C) 50 =ERr (D) 45 sEr

Ifs A, B 3R C @i 379a 211 22 98 a1 B 3R € il 74d g 25 a9 g, d 319 ¥ 9 41 14
A 3T J1d shifS |

(A) 25 a9 (B) 35 a9

(C) 50 = (D) 45 ¢

23.

The smallest among \F, \F, \F and \F is
2 V3 14 3
1 1
1 2

SPACE FOR ROUGH WORK
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2

W

: \g \E, \EW\EEWWWWW
(A) \E (B) \E
(©) \/Z (D) \E
23. \g \E \E @R \E -G [ FUow FRAMG 29
(A) \E (B) \E
(©) \E (D) \E
2a. |1 |1 L [2 o v s e
w I oL
(©) \E (D) \E
2. [} 1 [La 2 ot
(A) \E (B) \g
(©) \E (D) \E

SPACE FOR ROUGH WORK
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24. Iffzgzg, then XTYTZ i5 equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
24, 7 XY _Z g XY Z qqmwn
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
24, 7 X =Y _Z g TTYITZ _qg
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
24. 9 X =Y - Z s XTYTZ o1 gum swie
3 4 7 z
(A) 2 (B) 3
€ 4 (D) 5
24, ae LY _Z G XY Z mgn e 2
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5

SLRC—2024/P-111/ 1-C
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25.

25.

25.

25.

25.

Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

7B TR 2 : 3 TPTS TR I FROT oALT. SF . 9.- F@REE 96. A YBH @9
ey

(A) 18 (B) 20

(C) 22 (D) 24

{6 FLII ST 2 ¢ 3 R SICHR 9. 8. G ;Y. -F BORFST 96. IR {oA CI5TFeT 29

(A) 18 (B) 20

(€) 22 (D) 24

A4 foom Sge@men 2 0 3 o R g.eEn. AR g.enAn H aeseTE 96, fowm
HFAT ARSI STE

(A) 18 (B) 20

(C) 22 (D) 24

3 wEAd 2 : 3 A § ¥ IR ITh HedH wHvEds 3R THH THEE B VR 96 §1 S
TRt w1 A 2

(A) 18 (B) 20

) 22 (D) 24

SPACE FOR ROUGH WORK
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26. The value of Y82 is

(A) 1 (B) 3

(C) 2 (D) 4
26. V82 1 Y7 2’7

(A) 1 (B) 3

(C) 2 (D) 4
26. ¥82-47 I

(A) 1 (B) 3

(€) 2 (D) 4
26. V82 f 7w

(A) 1 B) 3

(C) 2 (D) 4
26. V82 H UF B

(A) 1 (B) 3

(€) 2 (D) 4
27. A certain amount invested in a firm would become double at the end of one month,

but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55
(C) ¥270

(B) ¥0
(D) ¥45

SLRC-2024/P-111/ 1-C

SPACE FOR ROUGH WORK
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27.

27.

27.

27.

@I 9 TP 2dfevrre 4 [ce IRE a2 g @@ g q@d AR 2weel, 58
2AfSDICHIca 2feqq 1 w89 2'cefe & 120 Ffb MY | 9o Teee @2 dfevie 105 R
FCE IE (FICA S [T TP 2 3 T2 b1 flcq | 3 W2 WS [eREed Jo IR

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

o W “ifFma =1l go6fs e Afewe [RiNae s O Ter (i Bed 3 I 98 ofe
Rt 120 (O (18T W | & e T 105 [RE@e 9@ @2 @i sfefie wifqme
RfSce 1 Fcg 3 W @ '@ 1 3 WIOE (I Ol (G IR 307

(A) €55 (B) ¥O
(C) ¥270 (D) ¥45
A ®I FEIHE T SHYAA T SeqEE o TST BEA SR T9™ %S SIEhHet

FEAMT T 120 Gl @ - AGAl | 99 IST o B FEAAE & 105 SHT GE1 3T Sell 3w
T BIeueEH for o et g 3 @nfaat | g 3T e faerify g s sme

(A) T35 (B) ¥O
(C) T270 (D) ¥45

T ® ° faw i TE e ffaa ufe v wde % o H Qg @ S, afed seE s el W
¢ 120 i T Fe < ST 71 TE ARG 39 BH A T 105 A HEw war ¢ IR o foedt arfafen
Tfer 1 e R 3 wE 9 SR WA 2| 3 HEH o 37d H IHeh! G 3 Bt

(A) T55 (B) €0
(C) ¥270 (D) T45

28.

The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

SPACE FOR ROUGH WORK
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28.

28.

28.

28.

80 T 100 F W&re S[F® (e 7227 (26! 2

A) 2
€ 3

(B) 5
(D) 4

80 @32 100-9F (Y SRFS (NieTF A7 FM 2

(A) 2
(€) 3

(B) 5
(D) 4

80 W 100 T TSa He™ Ter 3HSHT g7

(A) 2
(€) 3

(B) S
(D) 4

80 31 100 o = 319" gt i it 2

(A) 2
C) 3

(B) 5
(D) 4

29.

29.

29.

Find the value of [(107 +102)+ (103 +1072)]= 10°.

(A) 100
(C) 2

(B) 200
(D) 1

(107 +102)+ (103 +1072)]+10° T T fefy < |

(A) 100
(C) 2

(B) 200
(D) 1

[(107 +102)+ (103 +1072)]+ 10°-9g NI fosfq et |

(A) 100
(C) 2

(B) 200
(D) 1

SLRC-2024/P-111/ 1-C
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29.

29.

(107 =10%)+(10° +1072)]+ 10° 7 7+ fag|

(A) 100 (B) 200
(C€) 2 (D) 1
(107 +102)+(10° +1072)]+ 10° = HH F1d =Hifs |

(A) 100 (B) 200
(C) 2 (D) 1

30.

30.

30.

30.

30.

If A:B=23, then 144A : 36B is
(A) 4 (B) 12
(C) 3 (D) 16

I A : B =3, (93 144A : 36B 3 T+ 27
(A) 4 (B) 12
(C€) 3 (D) 16

IW A : B =3, 94 144A : 36B-3 T+ 2
A) 4 (B) 12
(C) 3 (D) 16

¢ A : B =3, 3%l 144A : 36B ™ a1
A) 4 (B) 12
(C€) 3 (D) 16

I A:B=3,d 144A : 36B HI A B
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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31. The fraction equivalent of the recurring number 2-19 is
271 217
A) -5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
81. e AN 219 I FgeT SN (2R
271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90
31. S YN 219 -G F@ely B 23
271 217
A) —o (B) =——
99 99
219 291
€) — (D) =
90 90
31. 219 NEURAE AEAfE SR T0E SRaE @il T8
271 217
A) -5 B) —o
99 99
219 291
C) —~ (D) —+
90 90
31. 3Ed @A 219 F GHI 9
271 217
A) -5 B) -5
99 99
219 291
(C) —~— (D) ==
90 90
32. The largest of 26, 35, 4% and 5° is
(A) 26 (B) 3%
(C) 4% (D) 53

SPACE FOR ROUGH WORK
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32. 25, 35, 4% =F 53 MANCFEHR A T TG 23
(A) 2° (B) 3°
(C) 44 (D) 53
32. 2°, 3%, 4% @3 53-97 Wy JTEAB =
(4) 2° (B) 3°
(C) 4% (D) 53
32. 2°, 3%, 4% sy 5% 1 swa whew
(4) 2° (B) 3°
(C) 4% (D) 53
32. 2% 35 4% 53 Jue@ e B
(4) 2° (B) 3°
(©) 4% (D) 53
33. For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is
(A) 7m (B) 14n
(C) 21m (D) 28n
83. qEw BIRTE AR CFAO Yl AT @ (9€ (eeere o1 TS oG qifNeE DRI
SABFICOIE T 3“1 eI | A BiRCFe 5 TP 70 6. W, =W, (98 *lewer 1060
oy “A1e SRCFC e 212 (W 9pe) Shoa Hfed ?
(A) 7m (B) 14n
(C) 21n (D) 28n
33. GF M[RTE AR (F@ @ W @ GO ABICs e Bee ACRCET AN B o
e Ao =2 1 A AR BIPE APTE 70 ¢ WL =W, Wil 1016 e “Ancece AReEfna
wfody 391 71g ([Woreq) 2=
(A) 7m (B) 14n
(C) 21m (D) 28n

SPACE FOR ROUGH WORK
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33.

33.

U ATgehel AT Jafs, oo deerdt @ 2 9 fbfesen, Romfy amemn = 3 anfifest| g
HTEehdd AT @@Em 70 . f1. S/, 3fsen o W 10 GR hiisen, @geen s@ MW
(forera) @ReATTH?

(A) Tn (B) 14n

(C) 21n (D) 28n

T ATEfhe WAR % foru 7w @1 e R e o1 ot Yefom % fow wmsfer @ svren ufeen 3 qoi
HE ST 7 | Afe wrsfhd @ ufed i B 70 "o wio 7, A1 10 Ui Yefom # wigfehd g1 99 it
Tl (i H) ®

(A) 7m (B) 14n

(C) 21n (D) 28n

34.

34.

34.

34.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 2v2 sq. cm

(C) 4 sq. cm (D) 44/2 sq. cm

9Bl A fage BN SiE TweR vl A WP PORn! %9 el 242 (5. . | [Uges
T

A) 2 3sf . . (B) 242 3sf 5. .

(C) 4 3sf ¢v. f. (D) 4+/2 3sf ¢5. 3.

93 e fagre o ¢ TweE A TN g e qr=a i 242 ¢ [ 1 fagsita
CHaT] 25

A) 2 3sf ¢, . (B) 2+/2 3sf 1. 3.

(C) 4 35f &1, . (D) 4+/2 3sf 1. fil.

T WY TRET YT e TRl ShumrE marer e o fuf 31y emenfuft cmeurEn
242 @, .| 9 smEnf=emty wifern

(A) 2=t @, fa. (B) 2+2 =t @, fa.

(C) 4 =t @, fa. (D) 4+/2 =i @, .

SPACE FOR ROUGH WORK
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34.

T IV TS T SR 3R 3IEeh! Sarg aRET § SRreR § 3R ARl oS A araTg 24/2 Wo Hio
HBEES IR EEIc R

(A) 2 =t Fo o (B) 2+/2 & Fo o
(C) 4 =t Fo o (D) 4+/2 =t Fo o

35.

35.

35.

35.

35.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42

(C) 49 (D) 56

19 7@ RS 9 G R (P B 7P e 2] FHCACIN I TR Sreqiz.
2'e | SN ARAPRRI 22 761 R R F 77 | G2 751 R P T (>

(A) 35 (B) 42

(C) 49 (D) 56

1 Trca o 283 @i TRYISET AR (A0 NG (SIS A AR @Foll 291 | S[HBsfl (A
22 715 eyl w1 23 | G 76 AR e 29

(A) 35 (B) 42

(C) 49 (D) 56

1 S IR S sEfm REwE T S AN SR e | AR AE
femmifs @9 7 SFRmTERE g A S HE 7 SASEERE SR S

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ € B dTcl IR G el fl J@en H, 94 99 g A ger & Sl | 39§ ¥ yuw
7 T W =R A 31 7 wEne & A g

(A) 35 (B) 42

(C) 49 (D) 56

SPACE FOR ROUGH WORK
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36.

36.

36.

36.

36.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

Yol TR A S[F BT @9 99f FAr@ C (o1 93 | #9981 Bi7Te AF 7| B [l 9 3sf
IS D (A1 A | C~DF A SF B S 2 Fce AFRIMCH 23

(A) AA+B) (B) 4(A-B)
©) f:rB (D) 4AB

76 A A 8 B (F AN @9l T W G 79 I¢ C A IR | AT 417 A (XCF B [l
T T @R TS 99 FACE D 2N AR | A € B-&F 2 AN C — D (F 2™ F9Ce1 2

(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

A I B IANHME! IETEAH T @ 7 fGgHH C AFaE| AW wiieE B @ A Foem
T i foif Aty s fagaa D a9emil €~ D @l A 311 B foememe wrAmsa

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

C U %3 & foTU ugat 31 §=A13T A 3T B bl ST Sl @ qT 39ehT o1 TohaT STl 2 | 37Tl =R/
A, AW ¥ B &l 921 ST @ 3R D " 1 & fow 39 aftory =1 anf foean strar 81 9o ¢ - D
Fl A 3 B % ®9 H =4t i TN

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB

SPACE FOR ROUGH WORK
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37.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3
(€ S (D) 2
87. TSN [ AT 1250 759 Ffcat @bl =Jofqef 7251 oIl 4 2
(A) 4 (B) 3
(C) 5 (D) 2
87. STl TR0 AL @A 1250 (F 99 Fca1 7)< 95 A A1 T/ A6 Fefy Fee |
(A) 4 (B) 3
(C) 5 (D) 2
37. 1250 G 371g o WA J AT STSHETS SHSTeAmH |
(A) 4 (B) 3
(€ S (D) 2
37. 9 <A 91 F1a hitwe, e 1250 & v i &t 99 ok fore o R s =T |
(A) 4 (B) 3
(€) 5 (D) 2
38. When the numerator of a fraction is multiplied by 4 and the denominator by 9,

38.

the fraction reverses. The fraction is

(A) (B)

©) (D)

Mo g p
NWw WIN

GBT SR TS 4 (F S 295 9 (T 7q FICH SAIKCON AMSCIN (o110 | S2ARCBI (=R

(A) (B)

(€) (D)

NSNS BING U RN
Nw WIN

SPACE FOR ROUGH WORK
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38.

38.

38.

G5 AR FRCE 4 FEI G TACF 9 T B FqT 206 A1 Teen T | s’ =+

(A) (B)

NSNS IO U N
N[W Wl

©) (D)

JecAT WA AEEEREIE BFE 4 S gEST A0 Sa@ 9 5, o araeaereT oot fifdst| o
ELCIEICIEH 1]

(A) (B)

Nl | b

©) (D)

NIWw WiN

e fore 375 o 3791 1 4 | 3K F N 9 TN o ST 7, at o 3oie Sian &1 9 e

4 2
(A) 3 (B) 3
5 3
(€ 2 (D) 5

39.

39.

39.

At what percentage of simple interest does an amount of money double in 12 years?

A) 9X% (B) 8=%
2 2
Q) 8l D) 91%
(€) (D)
3 3

T T GG T 12 TS 51 07 7 o 23 i 24 o 2

A) 9X% (B) 8=%
2 2

© 81% D) 9X%
3 3

T IO TS MO 2 Jere 12 = g 232

A) 92% (B) 8<%
2 2
o) 8l D) 9X%
(€) (D)
3 3

SPACE FOR ROUGH WORK
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39. AHY M@l SN 98 R el G2 AHsal 12 SERE o STEE BT S

&) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

39. HYRY &S o fohae Tfaerd W i gafyn 12 a6t & g & Saft?

a) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

40. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9

40. Wbl ST AP ST 1 : 3. € (O (FaFoR S7e 23
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9

40. Wb J0ST TIPNCHT AT 1 : 3. I CHAFCET ST 2

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
40. ST HAAM FEEHR Ts@m 1 : 3. | Hifa ssram

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
40. 1 Tt Y Breansti 1 U 1 : 3 B 1 I &Ahal I SIA B

A) 1:6 B) 2:9

(C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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41. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
41. 1009 100% J &97® 200 T 200% 9] FECE FeFe 29
(A) 300 (B) 400
(C) 500 (D) 600
41. 100-99 100%-99 A 200-99 200% (19l FACET FelFe] 3¢
(A) 300 (B) 400
(C) 500 (D) 600
41. 10014 100% 3 2001 200% @ SSTETsAT AT
(A) 300 (B) 400
(C) 500 (D) 600
41. 200 % 200% H 100 1 100% Sired 9T qRoms I g
(A) 300 (B) 400
(C) 500 (D) 600
42. If a+b=8, b+c=20 and a+c=18, then the value of a’+b? is

42.

42.

(A) 34 (B) 43
(C) 46 (D) 64

It a+b =8, b+c =209 a+c =18, (33 a’+ b2 J I 2’7
(A) 34 (B) 43
(C) 46 (D) 64

M a+b =8, b+c=20 93 a+c =18 37 O@ a2 + b2-«q W 3¢
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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42. Y a+b =8, b+c=20 3R a+c=18, 3= a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64

42. If¢ a+ b = 8, b+c=203ﬁ'{a+c=18,?ﬁa2+b23|ﬂtlﬂ%
(A) 34 (B) 43
(C) 46 (D) 64

43. If 2* =32, then the value of x is
(A) 4 (B) S5
(C) 6 (D) 7
43. M 2* =32, (B x I I 27
(A) 4 (B) 5
(C) 6 (D) 7
43. I[M 2* =32 27, O x-9F [+ 26
A) 4 (B) 5
(C) 6 (D) 7
43. 9fe 2% = 32, 7=l x T wE

A) 4 B) 5

(C) 6 (D) 7
43. 3fe 2X =32, A x HAHA B

(A) 4 (B) 5

(C) 6 (D) 7

44. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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44,

44,

44,

44,

551 G SR IR 91F 95 (oIl 91’3 | FRUICHROF SGBSCP TS FRICHI (22
A) 17 (B) 21
(C) 23 (D) 19

5 FF YA RAE @9 95 #A1SHN (ofet | TR B 7oy IZewb 7o

(A) 17 (B) 21
(C) 23 (D) 19
HINS A 5 9 T SHSHIGRM ISTETEaT 95, SafRgs e TSR e
(A) 17 (B) 21
(C) 23 (D) 19

5 SHATTA Toog et o1 I 95 UM ST 2 | Hed ol W ©
A) 17 (B) 21
(C) 23 (D) 19

45.

45.

45.

45.

45.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 B) 7
C) 4 (D) 6

I IfF R4 34p5 (BT 9 @ o =7, (98 pI WA 27
(A) 8 B) 7
©) 4 (D) 6

I wfaE 140 34p5 B 9 =a1 o6y 27, O2ee p-93 W 2@

(A) 8 (B) 7
(C) 4 (D) 6
Sf¢ Tuifieh SHSM 34p5 @i 9 St TSI, 3Tl pf am
(A) 8 (B) 7
(C) 4 (D) 6

Ife TIHeTd T 34p5, 9 W fawsg &, @ pF OM 2
(A) 8 (B) 7
(C) 4 (D) 6

SPACE FOR ROUGH WORK
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46. The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 TC2 2

(C) —cm (D) —cm
4 4

46. 4 5. . 2T I9fCFq WOR fooqe SFT 7}l J€ GOR AEH CFIF 27

(A) 4n? <sf . . (B) 4m 35f (5. .

(©) %zm‘ . . o) ™ <of (5. fil.
4

46. 4 ¢1. . IREE @3 39fCHaa o SFce =1 Jeed A CFawa 2 d

(A) 4n2 3o 1. fi. (B) 4n 35l @1 f.

(©) %zm‘ . . o) = =of 1. .
4

46. 4 4. fu. @t T S foeTa S @R SEAE YA e
(A) 4n? =t @ fi. (B) 4n =t 9. fir.

© Tt D) ’faﬁa. i

46. 4 o ™o ATHR & Tk a1 & X Wiw I bl AT I H1 AfUHAY &TFA 8
(A) 472 =1 Ho Mo (B) 4m 91 Fo Hio

() %aﬁ@o o (D) ’faﬁao o

SPACE FOR ROUGH WORK
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47.

47.

47.

47.

47.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

W o1& IR 2, (oc 92 g I frelchl 2°7
(A) ™ (B) W&A_
(C) A= (D) CTR™

Ifn 1% FREE 27, OrEes 92 e #Eq el 2@

A) R (B) W=
(C) wf@E= (D) CTRER
Sfe ferfa arn fomm, ewen 92 wmf 3 W 9= e
(A) =R (B) TFR
(C) ersr (D) HHER
Ffe 31l e 8, a1 92 fedt % we = feq Bnm

(A) e (B) IR
(C) Team (D) |HaR

48.

48.

When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2

(€ -2 (D) -4

I G TR 9T 71 FRLCO[A ol @39 [easl IR 279 G2 FRACOIER Nl R |
SO TR

(A) 4 (B) 2

(€ -2 (D) -4

SPACE FOR ROUGH WORK
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48.

48.

48.

G3To Ze IR om0 YA F9f (AT [l 1 2ee AR BETE 2[R 7_4ibe e
T | AR 2

(A) 4 (B) 2

(C) -2 (D) -4

Jfe A AR SHHEE o aFsTermemE! 3@ A, 3Tl a1 o sHfsmEE s fo=r
STTeIT

(A) 4 (B) 2

(C) -2 (D) -4

Sa foret T w1 9 T 3@ wen & @ "er feEn S 2, d ufom 9@ e wdt 21 9w
= ?

(A) 4 (B) 2

(C) -2 (D) -4

49,

49,

49.

49.

49,

In Roman numeral, XCI represents the decimal number

(A) 41 (B) 21
(C) 91 (D) 111
G 31251 XCI G Jeeal wifRs FRICHT 207

(A) 41 (B) 21
(C) 91 (D) 111
G SR XCI 741 fofee w1 wifis s1:emfb 2o

(A) 41 (B) 21
(C) 91 (D) 111
WH graieTa XCI [ ewifhes safsmmen s

(A) 41 (B) 21
(C) 91 (D) 111
e 37h1 § XCI 59 a3merd | 1 fdfiied st g, 98 8
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK
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50.

50.

50.

50.

50.

A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

13 . i ©9el T ey (rdle @9 (R [ SCR S B9 €0[q JqCol 5 . Twere
IR | (FAELER AR S G4 9] J99 A6 ]S e 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

13 . o @b T2 @b Ter3 (SACER M GO (CE SR (A O Teiead A 5 .
THOR TEFS | (TEICET WO GR B TCv 20T T Sl 79 2

A) 9 . (B) 5 .

(C) 11 . (D) 12 f.

13 fir. Tt et TToE! IR STEmE WS 5 . Shumsamd @R 8- SHe | st TerTt—wsr=
TES St Merfif Tfefm e S9

(a) 9. (B) 5 fu.

(©) 11 fa. (D) 12 .

13 Hio el Uk Wil Uk FHeATaR S W gehl g8 ¢, fSwent Fad {5 o & F=m w 2| dan
% Tt R 3R =ie o f=ret fR o o= 6 afos gl ©

(A) 9 Ho (B) 5 Hto

(C) 11 Hlo (D) 12 #io

SPACE FOR ROUGH WORK
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51. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is
A) 1 (B) -1
C) 2 (D) 3
51. 2, -1, 3, 1, -2, 5, 6 FRANGFICOR Y™ (2T
(A) 1 B) -1
C) 2 (D) 3
51. MY &y 2, — 1, 3, 1, -2, 5, 6 -97 I 21
(A) 1 B) -1
€ 2 (D) 3
51. sEMT M 2, — 1, 3, 1, — 2, 5, 67 @™
(A) 1 B) -1
(C) 2 (D) 3
51. GEAST & AgHA 2, — 1, 3, 1, — 2, 5, 6 I HIETS ¢
(A) 1 B) -1
(C) 2 (D) 3
52. A person moves along a path such that he is always away from a given point by

7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m

(C) 122 m (D) 144 m

SPACE FOR ROUGH WORK
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52.

52.

52.

52.

g qieee 9 owe v o[ w7 [ g @R R 99 W o ofe e | ey T
GCTTed e IR (€ 7717 AR ST FT© ToIS 209 | G2 AR (D€ Tfoad F1 79
RIEHRI CRE

(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

GFE e ¥ G ¥ 4eq b @ O T @i [HE Ky e 7 W yag qowm ey |
g9l o A1 O ORI O e fRee e | @@ e (seed ety wifede 41

R 79 25

(a) 22 f. (B) 44 fi.

(C) 122 f. (D) 144 fi.

T AHRET 3 A SARaEfE oeE el S o wee g ssamet 7 @ meeE om

W g AEEAEE 3 o e e SR G § gEEE gueeE 99 M
ATSTREN ?

A) 22 fa. (B) 44 4.
(C) 122 fu. (D) 144 fa.

T SAfth Ueh 99 T 36 TR =erdl & T e fau 7y ush forg @ ghwm 7 o g a1 81 FB R e
% 916 98 J: 3O TR forg W UgE SIaT §1 39 §HA % QR Ak g1 a9 hl TR STgHTa

U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

53.

A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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53.

53.

53.

53.

1 99 . SR 99 B[ 2[1 1 ¥ (5. . SRos PR AF T TAE FIo Sfereq] 27 |
o1 I FelFq FR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 9 . SRS GF I SR T SFICA FOod 1 ¥ @1 [, SReee e [oe
91 2 | 1Y FY GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 =9 . USWTE TAT T8 % 1 89 4. . a9 e R e g s, e
et == STETTH?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 59 Hio TG It Tk B4 Bl 1 B9 Yo Hio TG It B¢ Bl § GHM &Y § hIel STl g | 91T
T B AT hI G 2

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

54.

54.

54.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 G TRCS [eTey Jelod LT 4G AL =’
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7R AN G2 M 6, 8GR 12 7HI [eren, @I 23
(A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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54. SEMRgE gIRE ISETE T SHSE SRE! 6, 8 IR 12 S TS, o= STal
(A) 24 (B) 18
(C) 48 (D) 36
54. T9H Bl YATCHS UNeh, S U 919 6, 8 3R 12 ¥ fawsa g, ®
(A) 24 (B) 18
(C) 48 (D) 36
55. The difference between the smallest 3-digit even natural number and the largest

55.

55.

55.

55.

2-digit even natural number is

(A) 1 (B) 2
(C) 3 (D) 4
3-SRFYS GRS 7E YA FIOIS IR AF 2-WYE I A TS FRAE M2/ (202
(A) 1 (B) 2
€ 3 (D) 4

3-SR FUSY FSE I TR QR 2-SCH JR&H FOI I FRAW TCKy 21w 29
(Aa) 1 (B) 2
€ 3 (D) 4

g 3-gHfsmrET faform s emfsm o @i 2-amfswrn @i ssr'n smfsmf Tewe
T BRI

(A) 1 (B) 2
€ 3 (D) 4
3 k! hI T BT TThfcrh TN TEAT 3R 2 37kt I TeH T TThfash TH WA % = H AR
A) 1 (B) 2
€ 3 (D) 4

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-C 47 [ P.T.O.



56. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

57. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

58. What is the synonym of ‘furious’

(A) Laughter

(B) Witch
(C) Impure
(D) Angry

59. Identify the incorrectly spelt word.

(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

60. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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61. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

62. Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall

63. What is the collective noun for fish’?

(A) Swarm
(B) Pack
(C) School
(D) Herd

64. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.

(A) Either, or

(B) Both, and

(C) Not only, but also
(D) Neither, nor

65. Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

(B) (/)

€ ()

(D) ()
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66. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

67. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

68. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

69. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

70. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You
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71. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

72. Identify the correctly spelt word.
(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

73. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

74. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

75. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran
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76. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

77. What would be the antonym of ‘friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

78. From the list below, identify the synonym of lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

79. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

80. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy
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81. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

82. Fill in the blank :
Tuhin ran ____ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

83. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

84. Which of the following punctuation marks is called ‘hyphen’?
(A) ()

(B) (/)

€ ()

(D) ()

85. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty
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86. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

87. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

88. Choose the correct option :

Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

89. Which pronoun is used for ‘non-living thing’ ?
A) I
(B) We
(C) Us
(D) It

90. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten
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91. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
91. I TEEHT RACH! Areaiel & =nifeet 2

(A) BaiEcTs (B) =z

(C) %[ (D) sresiie
91. (I ACCEH (' AGA (@D e 2

(A) DarRwS (B) @26

(C) [ (D) orealle
91. 3TEH UESIH e TSI TETHH ?

(A) =g (B) SRerd

(C) T (D) e
91. 3EM AU i 3ifad T -t ofi?

(A) w1 (B) SiEre

(C) TR (D) e

92. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
92. B *RFwE Lol SA2O (1 fF wfee 2
(A) RS izl (B) =TS
(C) =yl (D) i<
92. TNB *RFACCIA FreRE N S fest 2
(A) SRS SRl (B) el
(C) cx=mTel (D) CIf&!
92. v TeReat foaf gt AE?
(A) AT 3TTET (B) STeRAT
(C) @egfa (D) et
92, fud Yeed HI SE 1 AW T AqT?
(A) A3 ATEAT (B) STehIgHTt
(C) wgdt (D) &t
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93.

93.

93.

93.

93.

Who was known as the ‘Lion of Mysore’?

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR’ (I SeTe i 2

(A) =Tfwet w2
(C) TS TWIE

@ TR ke e Al foge 2

(A) =fwet =2
(C) FReTET STCAR

| Hrgee fie’ g s

INBE USRI
(C) FORS TR

T % I AW Y FRE S ST en?

INBELESR U
(C) FOURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 22w wIfe
(D) 5% perer

(B) 2RME el
(D) b7 eTem

(B) ®IEa ATelt
(D) fag geam

(B) T et
(D) ¥ Gedm

94.

94.

94.

94.

924.

Which State of India has Jallianwala Bagh?

(A) Punjab
(C) Rajasthan

TSI (FICH! TS ST e 2

(A) 1G]
(C) ezl

SRS 9l SRCOR (Fe TS ST 2

(A) “nEgrR
(C) «r&ZIe

SAIHATAT SN ARAT e TSI &7

(A) 9Tt
(C) USEIE

SiferareTett SN 9Rd % forg TS | o 27

(A) USTE
(C) TSEI™

(B) Haryana
(D) Uttar Pradesh

(B) =
(D) Tes Zew

(B) =fre
(D) Teq 2w

(B) ®IAMI
(D) 3T T

(B) ®fm
(D) 3IW =
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95. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
95. SR Regad TS RIS (PR o™ S (oll6a SRAwIE SR 2

(A) 3T (B) Sl

(C) F™ (D) (RSB BT
95. o Crisfer T (I e feeeas T e oie few

(A) 3ETS (B) &I

(C) F™ (D) TS Aeq
95. A Y7 eI HHE MERTE SR e a0 Tfard g1 STeFTH ¢

(A) ¥ (B) S

(C) »r+ (D) @fiEE g3f=m
95. FHfRiad & @ wH-|1 o1 f5dia fovags o dF i | &1 feem o

(A) ¥ie (B) S

(C) B (D) ®ifera T

96. The ruins of Angkor Wat are in which country?

(A) New Zealand (B) Indonesia

(C) Vietnam (D) Cambodia
96. T BT TR (FITCHI (79T ?

(A) fefecers (B) TSR

(C) oI (D) eI
96. IFICH-GF FITACR (I (T R 2

(a) frefee (B) ZCICAm

(C) fermeam (D) I
96. 3T AT TREET ITERNRT e ETeld &7

A) e (B) 3= AR

(C) T (D) o feam
96. 3THR dTC & W forg 3o 1 27

(A) =sficte (B) seMfam

(C) ferraam (D) wafea
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97. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh

97. TR @FFER (™[ G ST SBSIeF ATNBCIAT =2 FCF 2
(A) TOF = B
(B) B9 S e
(C) BT F BT
(D) IR S QBT

97. B @ (PIfe] SPIHT BT AT 2
(A) O @ B
(B) T 8 qeTC
(C) T € THI
(D) TRFNE € LA

97. M &l TRRS SRS FAT THeTm ¢
(A) T SR =
(B) <9 2RI Setew
(C) STATSST TR
(D) TIHER AR TR

97. ry frmfefiagd & @ form em & ary Siauisia dmn drgn ar 27
(A) ¥z ST <
(B) = 3R setem
(C) IR R YA
(D) PR 3R FEATT
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98.

98.

98.

98.

98.

If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

Tfr Qe RN (o2 711 SAIRBIET (oleeT ¢olie ofF =f2 wiew, cocs [Eede @it fsicer TfF
R 2

(A) wFReR #[1 {Ca
(B) “[< #[1 “A5wCaT
(C) =63 “<1 7<CeT
(D) TE<S °[1 e

v g R (o2 (e BARbE Wi FapiE Toe [, 9@ @b @Hies Tuez ?
(A) wFRel (A 2 me
(B) & ¥ “Foumes
(C) ¥ (AT 2 me
(D) Ted (AT M

T fora’er Ife Semetier e o fsram w5, st foen o1 fome i
(A) EIATHER AT
(B) TSI AT
(C) HHTAHER S
(D) WTETHEME HHS

Ife 1S gaTE STeTS =wE ¥ WY e 3R I5H W @ R, a1 98 e fown # 3eW W @ 87
(A) 3feror & gd it 3R
(B) g4 © ufyem &l AR
(C) |fvem @ qd &I AR
(D) W & qd &l AR
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99. What is the Westernmost State of India?

(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
99. T[T WGRS(P AIFDTS AT e (I ?

(A) qrErEl (B) “ig<

(C) T=IE (D) @&
99. SRS “MbTe ey (I 2

(A) Hrer=T (B) g

(©) T=AIE (D) @eD
99. WA HHTE ST TSNS el 7

(A) TSEIE (B) =T

(C) Hewrg (D) TSI
99. WRT I Tad ufverdt TsT -1 77

(A) TSR (B) uSTTel

(C) Hewrg (D) TsRId
100. Which of the following peaks does not belong to the Himalayas?

100.

100.

100.

100.

(A) Annapurna (B) Kangto
(C) Anamudi (D) Kamet
s IR 201 f2urERa SEefe wew 2

(A) @ (B) <FISCHI
(C) T (D) FlcTe
o (I oAb R S@af© 731 2

(A) e (B) WICHI
(©) T (D) <FIcB
e o ffafn feureaty a=?

(A) st (B) i
(C) wmmf (D) e
freafafea & @ @F-H =12 ae @ wefa 7= 27

(A) g (B) =
(C) g (D) FW=
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101. The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia
(C) Africa (D) Europe
101. (I TR AN TS J2R 2376 AT ST 2
(A) Teq S (B) wrcgfer
(C) =il (D) 2T
101. J=2% 2 2B (b e %) (@R TR W6ad 7w o[ 2
(A) Teq SR (B) SCGml
(C) s (D) e
101. U2 SR frobr =&l SRR Wit AedierE &7
(A) @1 TR (B) I=feran
(C) i (D) T
101. 2 ofer O fore #eTed & ke | o feoa 27
(A) 3 s (B) wefcrn
(©) kiRt (D)
102. Which of the following is a mountain range of South America?
(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
102. HfIR® FRCHT 7l SR G e 2
A) «fes (B) FRICTRN
(C) SR (D) FCFBIR
102. SICoH (PG 7w SRS G e 2
(A) e (B) FRICFEN
(C) XIs™ (D) <FCF*mT
102. TEEH S=1 Giel ST gTsimn Hif?
() T (B) PRI
(C) T (D) eETE
102. Ffafad & @ #9-o gfaor smfer $ wda sEen 37
(a) T (B) I
(C) 3o (D) HTehe
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103. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

103. o< Sfere (2@l ScgfalfE Swatee wix[l gt 8 9 g2 (B (R =
(A) pef (B) <-w=EN
(C) 9IRS (D) SR

103. Cud o SRR SIeAT® A PRFC=#11 e 78 TR TIHCS @ =
(A) T (B) e
(C) e (D) SR

103. i frema 310 uiEl sSREATS TaT SIS St el Srarb ! ESH
(A) g (B) STeHrarE
(C) =T SRgwn (D) 1 e

103. T4z % = SaragE fowhre =1 ehd % FRoT Scad forenel q Bt et ST §
(A) g (B) <shdid
(C) S®HT qHE (D) FEeH

104. Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
104. ORI JUEF (Pl 27 ?
(A) e (B) Teigefe
(C) CIRPTSR S (D) FZf®
104. JEPTOR JU=F (F ?
(A) e (B) Tomigeife
(C) CIPTSR S (D) E~fS
104. TESH AT ATHRERIET |7
(A) TTETE T (B) TIETE TRRATR
(C) gs ATwE FAfi (D) BTERATR
104. TST GT I 3T HH Bl 27
(A) Tu Tt (B) Iwrgafd
(C) ARaNT AT (D) Tgafa
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105.

105.

105.

105.

105.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S JIFfEF (FICT *17® Ao IR 2
(A) ZEeTE!
(B) &l T FyRIeRE 25 R0

(C) Tohow TRIERE 7 R
(D) CeTFTOR S

(P SRICSA AFATSCE *I2/12=F 15 T 2
(A) 2T

(B) Twall Tw TRERE 24 [oReife
(C) T TR 24 [vmeife

(D) CETIFTSR S

IRAT ZERATAT forem Tmmfatat @R ameen?
(A) TITETE (Y

B) feght Mt fafsanferfa mere femmoma

(C) s fafsrenferts mere foramm

(D) §F et gfafif

9 o U <l g <l 399 i feetmar 27
(A) Ta= Tt

(B) Tegl 3= =me™ <& g =mne
(C) HaT= =T & &I =R

(D) AR\ 31eTe
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106. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka
106. MR SPTHe AREPNRI (FRICH! ALFEICS qeaes FiHe 2
(A) T (B) wzal
(C) crret (D) Bl
106. 5 S ST (Fiv ARG MaRere I ey (ofF 232
(A) [ (B) It
(C) cmerl (D) Rl
106. TEEE THE AEMH oo FHerdl Sarsi S
(A) F& (B) gam
(C) =wa (D) et
106. ffafad & @ o™ &1 FH-91 Gifiq IR AWAR W STF F 547 81 27
(&) = (B) T
(C) are (D) 2
107. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
107. (G2 B12 [Tl (FX 3'S SRES 2
(A) 2l (B) =RweE
(C) TofepSr (D) CaIfS
107. (BRI Bl ST (% (AT SRES 2
(A) @b (B) ==
(C) Femprman (D) caifer
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107. qHaIg AR TSR FHYAHT Sere 7
(A) SETd (B) &fHgL
(C) forgfepan (D) &St
107. IhaTTE AT TJHUH g el 8d 87
(A) SiRETe (B) TR
(C) forrgfepam (D) e
108. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
108. (oM™ S+ FRIRF 9Ol (ol AT (27, (P AETS SGTS 2
A) Tedre (B) f2sme 2o
(C) w2<g (D) Teq 2o
108. el (2, (oM™ S3= FRGER G0 ©l9l, (Fle IS AT 2
(A) Tede (B) f2smet 2icws
(C) w2AIE (D) Teq e
108. Tfse 9o Hrea 7 7R @iwal T Jar o TESeTE €7
(A) W@ (B) femrerat wewm
(C) wermy (D) I <A
108. AT =, Mt YaT FEiad i Uk 3, fhe T 1 o 27

(A) TGS (B) fewrerar waw
(C) Hewrg (D) 3IW =
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109.

109.

109.

109.

109.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TR ATTS (FIC GOl e1q e Sqierer sl Sifqzce 2p/Raw =i S 999 A
I B AR GEB] TR 6 for (i 2w 2

(A) =R = (B) ROTZCSISH FeT

(C) T <PreT (D) W& rat

I Gfb e e vermieter @fb 8 9bm 4w et/ e e Aot o w@elfe
27Tl T 2C #[1CH, S A

(A) F&= (B) TIZCSIECTT Fe

(C) *[ e (D) @IS Ple

RAMH EeE FEH SR B |9 el SRS |ity/seerd fam fitmenera
Torar gmN, o T |/ gy

(A) 3eife T| (B) AMSIGH ER TH

(C) <o’ Tm (D) BT a9

R wae § el vk o7 o & § forn forelt 4@ g9 & T/ 391U ST U aTel 39 T e
1 e S @

(A) T e (B) WeATE-HISH el

(C) I A (D) ™ 1
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110.

110.

110.

110.

110.

Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

S (NITI) SR SGFF (Fle 2
(a) foe T3

(B) T

(C) SR Rers @3 9=<q
(D) Tergfe

TS (NITI) SR ST (S 2
(a) fe =@

(B) @uer@

(C) SRR f{ers FIE el
(D) To=igefe

Fifq (NITI) s serefifeEn |r?
(A) T T

(B) TITers HAAA

(C) wrafy fened sieRfa TR

(D) T3 BRRATR

Hifd (NITI) =0T o1 27987 SiF 27
INBRESE:EL

(B) W& Tt

(C) Wt T Sk o1 TaT

(D) STgAfd
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111. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat
(C) Golaghat (D) Dibrugarh

111, IS CNEAINE PR (Pl fewre Smiers 2

(A) PreTIa (B) @==16

(C) CoNeTran (D) fegarw
111, <NEISTS CNAIANE SPICIR (PR (SR SIS 2

(A) PRPTISE (B) =21

(C) CalreTrTs (D) fugsn
111. EmH FAferTe oa AemErfern 9« Marme g7

(A) R (B) SRET™

(C) TerTETe (D) fegme
111. FATCATE Rt stem o fora oot o fera 27

(A) TR (B) &R

(C) T (D) fegme

112. The international festival ‘Kullu Dussehra’ is celebrated in which State?
(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

112, IBE1oF SO T wC[1 (Pl &S [ T 2 2
(A) T2 e (B) Teq9e
(C) Teq ziom (D) e

112, IS THE “Fa m0o=1 (P A0 AT 27 2
(A) T2 oo (B) Tware
(C) Teq 2o (D) =
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112, TSN BRAT Fg SR G oo TEAIAE FIATE ST ?
(A) Temmea wewm (B) W@ T
(C) W = (D) wIEMT

112. JRYE AER Fg e [0 TsT H A1 Sl &7
(A) feama g (B) IWI@S
(C) I 9o (D) @

113. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and China

113. AR NN (A JB1 TUSF 72 B ?
(A) SR = Wefeers (B) SNCAR &G S IRl
(C) w=Fa SIEF S TMISTZIR (D) S A< DI

113. fRR 2oEl (PR 5 FeTeis 72 T ?
(A) TG 8 s (B) Wk g=1Z @ AR
(C) wFFal SRRl S SRR (D) &I 8 B

113. R TT-GreT o6 O S-Tiarat sarE?
(A) i sl o= (B) 330 THo o TR AMHAT
(C) e 3T(HehT TR HETTEHT (D) UM AW =4

113. T Seraf R a1 f-wmt ot TR Rt 27
(A) sTefern 3R =ficie (B) GYh TA TG 31K &4
(C) afequr hiehT IR HSTTER (D) SUM R =
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114. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

114. RS (IR (S Serelawl’ Aeiba ATePE e 2
(A) o fFaa (B) Tfery gl
(C) = 34 (D) Ccaat “oa

114. *FAS (SR MNEA ST’ N (F foredces 2
(A) oI fF6a (B) ey $23
(C) =& I (D) CCEs! Areq

114, IS HiR GHE AARH<T WA FIATen ar?
(A) T T (B) @< =1

(C) ST s&aT (D) #ft Trex

114, TFHUS HieR ZRI T M0 ‘s fia fore foed?
A) T T (B) @f=ed

(C) = =& (D) TarRft uTeR

115. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika

115. SRR (QIHETT PR T g 2SS S0 1 5 2
(A) ST | (B) “@ FI= (Tl
(C) AE (2B (D) F 5T FeiqFl

115. SERIEETS IR FIRE 4F g TSR dF© T F 2
(A) ToRT <= (B) If<q 1« (T
(C) B CaIzfE (D) I 5% FASIEPI
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115. wrEd fYer foun g e fe o) ge1 =7
(A) TEATT 5T (B) Hfer FHR I
() fer ez (D) FHT T & feH
115. A YR e I SRR 1 Fdeh M ©
(A) "I S (B) ufers AR S
(C) Tem erg (D) FYE =F TSI
116. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta
116. “BME 2878 T2’ TS FrRe 2[R @i IR 2
(A) I T (B) 2T SGIOR
(C) ScamaI *ZF (D) Sl T 7@
116. (FOCTE 7[BF *BHE 2878 T2YE’ T (7141 2
(A) TPIB I (B) 21T SGIHR
(C) SeamR R (D) = AR 7@
116. T AHRH foeE wrea-fiva g%a-gEd wegEd @t ar foai?
(A) eI ST (B) fetd wer=md
(C) el TEfeha (D) ¥7%9 PAR T
116. =1 &t geash, WMaRTe geys wergy fhad faeh?

(A) Terhid ST (B) Tetd wer=md
(C) weig A1 Afepan (D) 3TEY FHAR

SLRC-2024/P-111/ 1-C 71 [ P.T.O.



117. Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
117. [T =T (P TS T 91 2 2

(A) 9T (B) Iy

(C) wefio= (D) CCaRaMl
117. e[ =Y (1o e Teefivs 272

(A) eI (B) wifierTg

(C) 5% (D) CoCeTR
117. =W Ai@l 9 Testiera fagi?

(A) T (B) dIf¥erTg

(C) Hieh (D) AT
117. Y A &l 3cared fohd TsT | B 27

(&) e (B) dfFerTg

(C) e (D) T
118. Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon

(C) Bob Marley (D) Marlon Brando
118. fEfRe @@ o e foas wnfes 2

(A) oD coo o7 (B) & (T

(C) '3 =eef (D) icefi @mcel
118. T (T gFe [yre afe fegem 2

(A) TS0TE o 416l (B) &« (oIl
(C) 33 el (D) WICef ATl
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118. TERTE EHE AR HTEE JarEn qami Raume?
(A) TirEee 97 ™ (B) SH &=
(C) =9 Tt (D) e STe’
118. F=fafaa & @ =1 v ufeg feer oar?
INECAC R (B) SItA oI+
(C) e TTet (D) #TeiT et
119. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo
119. P SIfel (Bl ofi<e T *FFR (I (4ere SHes afeffag e 2
(A) A (B) @S0
(C) @&'% (D) ol
119. SPIGR SIfeRT (DY G3R TR BRI (P (FTR SIACes Afsflfdg ¢ 2
(A) T I (B) T
(C) TR (D) el
119. STEM AT NG ST FIA TERRATT WRAM S A7 e ?
(A) T = (B) ssfied
(C) (D) %’
119. 3189 Ht arfan =ert 3R Taa dfrn e g o wra &1 gfaffee st §7
(A) @M S (B) Sefiea
(C) (D) S
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120. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand

(C) Sania Mirza (D) Leander Paes
120. (OB (LERORIFE forire 3 |

(A) 7ol TP (B) ~[CareTl Cole™

(C) wfera firet (D) FIReR (e
120. S (RIS iz T |

(A) TN TP (B) =Tl ConAmm

(C) e et (D) FiEeR %
120. sEfieT TeumeEr fmmfy |

(A) <1 FHRR (B) geiat T

(C) @ fosit (D) forreT om
120. Jeffeq Raare! =t Tg=ny|

(A) €T FHRR (B) Yeiel Mg

(C) e ot (D) fedg T

121. In which sport did India not win a medal at 2020 Tokyo Olympics?

(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
121. 2020 5 SR~+Fe SRS (FFEY (T (Gl 2F a1 F41 e ?
A) IEgm (B) ©ICAICELET
(C) BlRcPECS (D) &=
121. 2020 GIFe TRHF SO (FIe (IR TMF (SO 2
(A) Tm (B) ®ICACSIT
(C) DRCFRICT (D) %
121. 2020 "AEAEM 2R ffris SeReERETE YRl 6 ToiHmETd Ted WiHRa ?
INEEISIREIR] (B) Tifer T@mm™
(C) dTghaTE (D) EHATER
121. 9Rd 3 2020 RN Afus ¥ f5a @t § qesh Tt Sfiar?
(A) Faa (B) Wi
(C) qrEEEr (D) Pt
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122. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events

122. ARF 2SR *R4e TN ¢ Sl (FFRY (17 OO Too ?

(A) STCoR (B) @
(C) fememfzs (D) GF = g (<@
122. 9IS dfecaiorer g SRS s (@i (e 0T TS ?
(A) er” (B) TG
(C) feemhoe (D) TS @R fFeeeq e
122. A TEN SERARAEE B SEM € o 99 TaEs gl e
(A) |HfEE (B) aefired
(C) T (D) 3% SR BIARTE AT TR

122. TS o fohd @t & ufeenfiarstt it we anfifes @ 27
(A) TRt (B) ssfiem
(C) TSrwTfee (D) & 3R Fieg T

123. Identify the incorrectly matched pair.
(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football

123. SRS el &dl @[l Hre 75 |
(A) T2 auasf - f&eh (B) fEm1 @9f : 7' (Bfevm
(C) Bizeme Tog : s (D) T BRIl @Il « Fo3e]

123. TEToId Cetieal (aels fofers e |
(A) OFF @1 : fFFd (B) Tt 3sf : o1 (BT
(C) TizeE T : o (D) @M @mICEe! : Foe
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123. TR FEEAE SR T |
(A) Ttk weamt : fopehe (B) =4 = : o o
(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead

123. Td gAferd S i T |
(A) e Tgat : foehe (B) = &t : &fq 2

(C) TR JH : Meh (D) Terfeeami TATeeT © Peata

124. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar

124. B & oo 37 wmiErs ?
(A) Heora (B) = fra
(C) TR (D) SR

124. B AW SRS (IR SRS 2
(A) Sl (B) wou fal

X

(C) IR (D) o

124. I3« IR 99 e o1 g7
(A) iR (B) Tem fagt
(C) ami (D) AT

124. TYA Jg TR wel € 27
(A) = (B) 7 fegh
(C) @ (D) 3TgaT

SLRC-2024/P-111/ 1-C 76



125. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

125. FERMS @GR Gre P 5[ fNee @ 71 2
(A) TR SAF G
(B) 2w SREpaet
(C) Thcay oI o e
(D) fefercoer Pt

125. FICo (FGA 0o ST BT PN 2Pg Goo ?
(A) TR € G
(B) =1 SEenael
(C) PR wlerel @ Bf Arery
(D) ffEbre fors

125. W G@RM e sg-eRmn MeEf 91 |l 37
(A) T BRa IR =3 TR
(B) =TS MG W™
(C) BT-IEI TR BI-WSIT
(D) fafsreat dietieng

125. 399 9 &1 fien sguw freafafaa § @ frag gafm 27
(A) HEIUTEH AR TSHTaeht
(B) HE STfcheRT
(C) ¥ Afiecr@ 3R oy a5
(D) feforea fatenm
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126.

Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
126. IR @ afsem fifes qeae TPIRE F97e Sive 7= ?
(A) TRC= €% b’ (B) Rwm gy Ifwm
(C) 6 W= (D) BT5T w592
126. SIco9 (Pl oI S Te=es TP IS w1 2
(A) FRCH S Gl (B) wWifzml =ire Tifzm
(C) CFPf Ha (D) BT GIBa
126. TEEH o GHAMET HIATTET HoR MR T=277
(A) @A TR gS (B) wfe= T= Afews
(C) wE med (D) 2T "™
126. F=fafad & @ w=-a1 @1eT arfifses aredi & e J T8 27
(A) @ T sl (B) wfezt T wfezn
(C) ®iE Hied (D) et Hed
127. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
127. &7 996 7] pH T 5-0 2°CA, (312 979 MRy
(A) 4R[SR 2Ffeq (B) zfi® zipfeq
(C) w419 (D) wIfEr epfed
127. 93 ©qeR 2. @26, (pH) 5-0 3¢e, (13 S/&0
(A) =R ZFheq (B) TR ziphon
(C) w=e 4Ty (D) = =3feq
127. Jfe AFE dE@EE pHIT 50, 3T o ATETEl
(A) @R g (B) ==
(C) & =g (D) ufere srgf
127. S fordt 53 &1 dio Teo (pH) AM 5:0 8, Al a8 59 ®
(A) Tpfd § @i (B) Whfd H deey
(C) Wt =g (D) i & vl
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128. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
128. 1 SRENEI, 2024 CICH OReq SHRIGANS @1 2
(A) SR &% FOIAT (B) I 12 FIR™
(C) wamiel 44T (D) FrEEne PR
128. 1 SRR, 2024 AACE ORCed T7RIE#RS & 2
(A) (oI BT oI (B) AW =12 (FIR™
(C) wofi q=4T (D) = Fige
128. 2024 WEAEM 1 SR @IfdfmE TRAH oeTs SRR 9]’
(A) TS T] RN (B) U9 1Y hid=<
(C) ST et (D) T fi
128. 1 SHafl, 2024 1 YRA & I I &7
(A) T FE e (B) T 1Y =hife
(C) e gEg (D) Ty g
129. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow
(C) Human arm (D) Stapler
129. RS @R 22 @R frermq =mefs 2
(A) oI (B) o=l ait
(C) e (D) (BT
129. oA @D AT IR Ty omwss ?
A) Ifo (B) coaTaNfe
(C) T T© (D) BT
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129. TEEH s« AEEn grar 1 faerty fafefr?
(A) @Hfy (B) et Tt
(C) AHfa A= (D) WUAR

129. f=fefiad § @ sH-91 it it e [ 2o § geifed 27
(A) =l (B) T
(C) wHa YT (D) WUeR

130. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan

o

130. (T (PR SOR OIS 8] PSR 9/ 789 951 FE T S ?

(A) afewt (B) pIEECeTS
(C) SICAEF TS (D) el

130. (I (T SO TSP 7o DS GFi> AW G SICR 2

(A) (B) ARG
(C) WP Fea1g (D) S

130. 9 TRRH b= e Tef drere T 6 &7

(A) fSIa (B) YoiRct
(C) iR SUTE BT (D) S

130. @ 391 % T eas & ot YRl R T The HiE 27
(A) Ssfiet (B) fersieie

R

(C) |IH TsT I (D) ST
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131. Which of the following is considered as the earliest compilation?
(A) Yagjurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

131. FRRRS @GR S6RSCS ~[@d Aper e [Reaval 41 27 2
(A) FTHET (B) ‘wadcaw’
(C) Ao (D) ST’

131. Ioa @AGCP ADRTeT e B Reavel Fal =3 2
(A) T (B) “Siean’
(C) ‘4w’ (D) TN
131. e FeE satgs fifafe gyrae foram fosm g ge1?
(A) (B) ‘s
(C) ‘foae’ (D) ‘@meE’

131. f=fafaa # 9 fra 9@ qge Gehed AHT ST 87
(A) TR (B) ‘storeee’
(C) ‘FFae (D) ‘@mae’

132. Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam (B) Babylon
(C) Mohenjo-daro (D) Byzantine

o~

132, RS @ TW P Torer serer o@efe ?

(A) TR (B) Qe

(C) CEGMICAN (D) AfECSBIZA
132. fca Tfafie @M 2ML P Soreos Terer =i fos 2

(A) TEfereres (B) It

(C) wccgmIcal (D) JRCEBIR
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132. e 9 SR ey gRA demta sRrmE
(A) HSTTEH (B) sfe’=
(C) WeAsl g’ (D) fermf=e

132. Ffafad & @ #F-w1 wom fay =t g = e o
(A) TSeugTg (B) et
(C) HrEAsIES! (D) sfienfeea

133. Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington

133. T0E Ja© MRS (@R St wifee ?
(A) TR GG (B) fIcreTs @I
(C) «wwr fabata (D) e ARG

133. I SEferE W (& SABRER 0w Gee fReem 2
(A) IR @5 (B) &= fercpret
(C) «oo f25eT™ (D) & SHHIG

133. TEEE THE G- AT aReRH e s &7
(A) T s (B) SR fies @
(C) T fezem (D) St =Tfre

133. ‘Treq it werk # Frfafad ¥ & & i on?
(A) Aot SR (B) SR fihera
(C) TEfew fgeer (D) St aTfFres
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134. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

134. (oTPs RS @ [eea @R 2w 2
(A) SPH, $HIF, B
(B) P, O, SECIbe] 20
(C) =P, $oF, e
(D) =T, fofe, Sreembst eiom

134. Tod (e fonf ZIca ezt (e<ge ?
(A) =PI, TOM, B
(B) SPT, BN, SRFATbE 2wl
(C) =P, eoM, Bifes
(D) =P, PIfRFS, SI=eelet 2o

134. WEGH-aal MEEH F6 SEH ARG TEHR ST ?

(A) TEm, gdH, ==
(B) 3T, dH, TEUT=a Ja9
(C) TmEm™, yaH, ffen

(D) 31w, faferm, Tevmee Jeu

134. Wage fFrefafaa § & foraen Geiwm 27
(A) 3TEH, 2, <
(B) 3TEM, ¥2H, &M= Ja¥l
(C) e, e, fafem
(D) 7eM, fafed, sTEv=a Tat
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135. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater
135. RS @@[e Gam Toa1e SR 2
(A) g (B) T A1
(C) @RS =g et (D) TSR [t
135. TR @D THFTS FIw TS 2
(A) SR (B) 3B w1
(C) =aifz® e &= (D) TR &
135. TR Fe&T TEar Mere ?
(A) SR®-T5T (B) T@1-7Il%
(C) Sem guTy ¢ (D) @ 2
135. Fefefiad & @ sH-a1 w@ie § qH=a: T0ehE gar 87
(A) Tewshor (B) TICT =T Tt
(C) =&dl 7t =1 qrt (D) &9& 1
136. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
136. MRS (PR T Teq-2| SO TFS ?
(A) I3 o (B) PRfere s
(C) Tre?[ql 7R (D) SRR RS
136. “Tcod oMo Jou (i Teavd ©Rre w{Fs ?
(A) @RS o (B) Frifers s
(C) Ao Rt (D) SRRfE “Roat
136. TR el BTSIHT AT T-HHEST TRATE &7
(A) SEA BTSHT AN (B) ferenfersr gt @it
(C) | BISHET AT (D) AR BISET ATR
136. frfafad § & ®F-Hf vda @ g Ira § 27
(A) =R Aoft (B) Renferes aof
(C) @ageT Zvft (D) 3TEet qaa ot
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137.

137.

137.

137.

137.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

~ o, =

frfetiae (P S s 2
(A) FFFRA SR G+ (FHR 2T ey |

(B) W@l SReF Qe (Fw TS ey |

(C) SR S CPIRa B1o17)g ©Req G+ (IR =T Trey |

(D) ~[TChd SO ¥ (FII NPT ey |

v @ RIS =rem 2

(A) FIFFIRY SRCST G0 (FHHOTS 26 |

(B) eTal?l SRCed > (FHHOTS S |

(C) SN & fehlaa Avivje Red Gl @FwHIPTe B2 |
(D) 0o SRCST G (FEAIFTS w9t |

e s fergform MRt M

(A) Seafsan WA T s GerEe TS

(B) HreAfgun YR T8 fiesii GseE eS|

(C) 3T=mH 3 T o) fgwmamn wraf 7 fires st Tgsi |
(D) Ygada WAt T8 feesTl g wEs |

Frfafiaa @ & F9-91 A Toa 27

(A) TeTET TRA T TH HAMIT TS 2 |

(B) WIGTET WRA %1 T haeMiad JesT B

(C) ¥ieHH 3R IR FIUayg YR %1 T Had Y9 2
(D) el WA =1 Uk kg e 2 |
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138. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?
(A) Asia (B) Australia
(C) South America (D) Africa
138. (Pl FRICOME G YA, TG (T2 SE FHo@IfE (41 #I19 02 C5ICR ?
(A) «fem (B) g
(C) wfEpel SICaRFl (D) =i
138. R, TGS ([ G2 FEOGE (1 (P TR 945 e Soa FCace ?
NIRCIRE (B) SICGleRT
(C) wf=pel SICHfEFl (D) IRFpI
138. o gmal, He 2@l 3TRI shehe BT o6l TGRS SRS ?
(A) ufeE (B) srfer
(C) @t AT (D) it
138. HERAT, HHU@T 3R FHehin fha Tersid & 2o et 27
(A) TR (B) strefern
(C) afequr st (D) THIH
139. Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland
139. ffIe @ Sl Feqg G- Romrey ?
(A) SmIsTRIS (B) (I SI1BCe1e
(C) =i (D) Fecere
139. oA @ADL TR FeAE 9F FYRIEG 2
(A) SRS (B) I @
(©) Zear2 (D) TS
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139.

139.

TR e SATHIER 1 gTet T T3 TEsii?

(A) HTETTRER (B) i o
(C) @ (D) et ©
frfafad & 8 SH-91 Gg% Ts9 SN H TH 69 T59 87
(A) HSTTER (B) ¥ g
(C) & (D) Fcts

140.

140.

140.

140.

140.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

POIGT SISO #[q1 < A1 S A7l [ewIRes SR el =@ AREbas (il 27
(A) T 2l (B) wczfIf

(©) Befeer (D) pf

TSR P (AP AP REFRC 91 & 43R A7 felaf® 26 qce

(A) Tzl (B) wczfIf

(©) g (D)

meft BT s g g o) @ AR g

(8) fog g (B) st s

(C) e (D) g

T e ¥ g | T e ST AT % ST |ed i shal ST 8

(A) TSR (B) ST

(C) T (D) gt
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141. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

141. FEERS @ O] ARYEE TSome w=F 2

(A) T IfBemE e NS
(B) %A g SR

(C) e ST

(D) (NFerF T

141. T3 @0 SRCe ARG Soqmie 73 2

(A) FF “AfsEmR ot T
(B) (Fcwa g wiiEem

(C) CRfere Al

(D) CNferF T

141. TEEM &1 YRaf afsfsef s Ter?
(A) @ T AreeTe
(B) Toreanty forenmm wmog
(C) Tfet e
(D) TfAT AT FT
141. F=faRad # @ ®F-91 379 9RA & g™ § 7@ 27
A) =T % Hifg-FEves frga
(B) % o fHe3h AfTRR
(C) wifeTsh TferpR
(D) Hifetsh shdea
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142. A continuous rise in the price level is called
(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
142. P9 B9 TS I (Il 27
A) ZRT9l (B) SHIfe
(©) =fs qurfe (D) arfs
142. TR FHITS Ifacs e 27
(A) frverel-"HIfs (B) SHIfe
() =fe qmrfe (D) T
142, o€ 9 T S84 SAEE qHEE! gt
(A) FTHRIIH (B) fewrm
(C) TTEIRETFATH (D) TwRIIE
142, 97 TR # TRa gfg &1 sar &
(A) TTHRITH (B) fewizm
(C) TTEEFATH (D) FWATH
143. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana
(D) District Achievement Yojana
143. JER & SifF Sfeqm (DAY-NRLM)S DAY [ &1 2
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143. o AN S i (DAY-NRLM)-9 DAY @108 F (@0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

143. FA WA AEHliags TRE (DAY-NRLM)3TE DAY H1 JSHI1?
(A) feafeae sfafafefa asmr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dHeTa 3Tgafes A5l (Deendayal Ayurvedic Yojana)
(D) feafede wfawm= ASAT (District Achievement Yojana)

143. TP T SATsfifast feM [National Rural Livelihood Mission (DAY-NRLM)] # DAY &
31 77

(A) 5o 3uetsgar JASAT (District Availability Yojana)
(B) dHeaTa NG AT (Deendayal Antyodaya Yojana)
(C) dHEITA BTlﬂﬁ'ﬁ% BIEE (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEC (District Achievement Yojana)

144. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

144. FEERS @@y Toeys A 9238 (SAICS I61 FECZ 2

(A) To&d (B) SETN@ 19 (2919 N
(C) T 2z (D) fafT &

144. oA @ TP A 3R (SR =l A0S 2
A) To&T (B) SFTN@ 17 271 SN
(C) F<AferT 2R (D) faf7 &ad
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144. TEEN J« g arE G2 @ aue foeE?
(A) Fg=TT (B) 37dmd IR &4t dimr
(C) Hfer gife (D) faf et

144. F=tafad 8 9 sH-91 3= g T o g foran mn?
(A) g (B) 3rdiad SR 8uet diar
(C) TIfafer glgt (D) fdt foardt

145. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

145. IS @M SO (FRE T S R 72T 2
(A) TREW Toge TFFaIEl (ICG)
(B) [F ST 71 (SSB)
(C) g = 56 (NSG)
(D) TR Srmifa FaEreriza (CISF)

145. T (@D SRCeH (RN g @il 7w 2
(A) SRR Toge Rzl (ICG)
(B) 1E 1 791 (SSB)
(C) B F a6 (NSG)
(D) @& Sralfes farremfza (CISF)
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145. TEREM T qRa e grftrmar ety g qT?
(A) zf<am wE e (ICG)
(B) & fomr s/t (SSB)
(C) vma fafwsfdfe mE (NSG)
(D) Bt gaTiesae fafersiife w6 (CISF)
145. fefafad & @ FH-91 9 &1 Fa ge meft a9 T8 27
(A) WA deterss o (ICG)
(B) 93t €M1 97 (SSB)
(C) T granr ME (NSG)
(D) e =Ntk gean st (CISF)
146. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au
146. T°R IPTRF FRF© 5 2
(A) Ag (B) Si
(C) Sv (D) Au
146. TF IPTRF AT F 2
(A) Ag (B) Si
(C) Sv (D) Au
146. I TEEe ffFiomr ar?
(A) Ag (B) Si
(C) Sv (D) Au
146. =ict =1 THEMS fag w87
(A) Ag (B) Si
(C) Sv (D) Au
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147. Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak
147. 1 SREER], 2024 CCH SN 9189 G 1 2
(A) IEE I (B) (TFIF® G2
(C) & fes (D) < pT
147. 1 SREIRI, 2024 FCACT [E TSACET NG (F 2
(A) IAF S (B) (TS G
(C) cem 2ee (D) M R
147. 2024 AEATEH 1 AT wrfefim i Sorg gy grerfiiEn |
(A) ST SASTHT (B) sdles g/
(C) & =g (D) Teaft gk
147. 1 SHad, 2024 1 G TsT JHIEHT 1 TFIRT HH 27
(A) = SATSTHT (B) SFTeE 7H
(C) S forea (D) =% gk
148. Which of the following is considered as the powerhouse of an animal cell?
(A) Nucleus (B) Golgi apparatus
(C) Ribosome (D) Mitochondria
148. RIS @GR 21 @R *feq wqe el K w41 23 2
A) @R " (B) a’=fe g
(C) =TT (D) BB wfe
148. 7 @FELE 2 (PR *few T 2o R w11 272
A) TISfmm (B) &w=ifer q%
(C) ArRCATHN (D) RCHRRG
148. TeE seE [N Sefgeme amm mrif aife g fafemm sme
(A) Fafa fre (B) TR Tem
(C) TEe'sH (D) =T =
148. Fmfafad & @ forar gy Sifsreer 1 dTeReTew W ST 37
(A) hsh (B) Tiestt @
(C) TEeEm (D) WIEIhi=gaT
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149.

Which of the following countries does not have a seashore?

(A) China (B) Afghanistan
(C) Myanmar (D) Iran
149. ffeiRe (lrem o MeiT ToIpet MR 2
(A) = (B) SRR
(C) Wl (D) 21l
149. Fioa @ (I Tweh (1R ?
(A) B (B) A=Al
(C) SR (D) 2
149. TR s« BTETEl ol W Tt
(A) = (B) SATHTEA
(C) =R (D) ==
149. fr=fefaa & @ fra 3o § wygde T 27
(A) = (B) STHTEAH
(C) wmm (D) ==
150. The world’s largest island Greenland is a part of which of the following countries?
(A) Denmark (B) Sweden
(C) Canada (D) Iceland
150. RS 32ew A7, AceTe @FELe @[ 5= 2
(A) co (B) p2CeA
(C) el (D) SNEHCAS
150. Ros g2ed A%l [ETenTS (@I (reem o ?
(A) (T (B) Ece
(C) <rTel (D) TS
150. gA e f3u fireter =« grerf smem?
(A) S (B) Bz
(C) (D) ATEHeE
150. fova =1 wa@ o151 59, Wicrs, fore w1 o1 9T 87
(A) ST (B) wreT
(C) et (D) @MTgheie
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